Quiz 19 Solution  Fall 2010  October 27
These problems are from Lesson 11 material.
Solve the following logarithmic equations.
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Using the definition of logarithm  (
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 ), we will write the logarithmic equation as an exponential equation:
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Solving the equation  
[image: image5.wmf]8

12

7

=

+

t

, we have that  
[image: image6.wmf]7

4

-

=

t

.

We need to check that the number  
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  makes the argument of the logarithm positive since the logarithm of a negative number or zero is undefined.  The argument of  
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When  
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Thus,  
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 is a solution of the equation 
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Answer:  
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2.
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First, we’ll use the property of logarithms that  
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In order to solve this equation, we will use the fact that any logarithm function is one-to-one.  Thus,  
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Thus, by the one-to-one property, we have that
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Solving the equation  
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, we have that
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We need to check that the numbers  4  and  
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  make the argument of the logarithms positive since the logarithm of a negative number or zero is undefined.  The argument of  
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When  
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When  
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, but it is not a solution of the equation  
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Answer:  
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